EARAROBREBRT —5 XN—ZXBISH—F

2025868228 (H) 3EFR#6H

M LS5ES G3 US5R3mE (EE)

(48 RIZE

EEE=CIEE

16000 R

[AE%] 17 41,000,000 § ~ 23&:16,000,000 .~ 37 :10,000,000 @ . 4 37&:6,200,000 5 3&:4,100,000 3

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
4 | RHBE 1:33. -1 .4 110. 4 it ()
1 2| F=TAILL = 57.0 (3_3)0 #0038 03] 5 (f:) FIEE=
KR:O—RApFrO7 B:FVAF=Z—H #HE77—LA
o — s 4 | C.ILX=) 1:33.2 7-6 33.9(108.1| 1 484 | AREH ()
2l5|7 | FTIIAZF 57.0 M 1) | @ IYF-L—yv7
RiN—EVIv— B:FzvF—/ /=Y Tr—I
o= ty 5 | HLEu 1:33.4 11-5 34.2105.8 | 14 | 474 |70 (RR)
317(12| ILRFT 4 b=l 57.0 a1/2 (+6) | DO
RiIvRIVTA BRHAZFA b HBEIT7—L
S 3~ % 5 | SHENE 1:33.4 5-6 34.0105.8 | 7 506 | FEEX (GE5H)
11 4 Gt Aa i 57.0 T G | R KiES
RiVIHAYVI—-R BFAIIN—F 41— RS
S N\ — tv 6 | HMIELT 1:33.5 2-2 34.41104.2| 3 504 | EREET (@)
s B0 7Y hNO-X 57.0 799 o |BELR
R:O—RApFrO7 B:TJLYFEFZ #HE77—LA
=~ > TN 133, = . . BE E=N)
A - EE2Z=EDEVAL) 6 B 1(}3_)5 14-13 | 33.7[104.7| 10 (4_11133) %_};:Fﬁn
RiFAIXTv— B:NIWF /Y LSA=T7—LA
N2 5 s 5 | JIIEREAE 1:33.5 5-6 34.1104.7 | 2 484 | BHPER EH)
70 6| L—RVRT 4= 59.0 ) 8 | B FrvOvbTr—i
RIUFIWATA—Ib B hIALSAT IN=te)
s T S~ 4 3 | WERS 1:33.6 7-6 34.21103.6| 9 484 | AHE (FEH)
81813 ISIYISY 51.0 (172) (-q) |WrE=
R:O—RAFO7 B:SRAFY7RAZRT« SlatTe
= g 4 5 | AURKIZ 1:33.6 11-10  [34.1]103.6| 12 | 510 |THiEE &R
9 3| TN 57.0 0\F) ) |TERLTY
RITFAUAYRANUAY N B 7T b S—L—- TNV - T7—LERE
e — # 4 | M. FLA—0O 1:33.7 2-2 34.6102.1| 4 458 | REERK (FER)
10/5/8|¥I7—A 57.0 e o |ECATE
RIE—UR 8:Ys70OR /=Y Tr—I
— L0 _ 4 5 | FXH 1:33.8 1-1 34.7/101.1| 6 | 480 |K#ESE (ER)
111814/ =hvEOF—T 57.0 (71) (6 |AvE—
R:FIYUISyvo B:ZhRyEO7ZVN— REBES
» o SMEZEN : - BKAE (W)
120111 | RV TRF— o6 il 1(73?3 13-13 | 34.0[101.4| 13 (1?) ;;Mziﬁﬂlz
R:FRF BNSIL—Y NILLT7—Ls
N, WSS L L BRES 133, - . . THIEE (R
12 4| IF4—ZEE Y R o7 BER 1(@3:;5? 9-10 |34.2]101.4| 8 52(1; o
RiFRXF B:TAFT4—XFT bokius
) t ¢ | HOBX 1:34.6 2-2 35.5| 93.1 | 11 472 | PR GEH)
14711 FYY b 57.0 (5) ) |ZHEET
RiTSvIIALR BYN/SZT FRE®E
[ BN
Eh' 45.8-33.9
NOYSA L |12.5-10.9-11.7-12.1-11.9-11.2-11.1-11.6
@ I1—JF—BEBIEfI
13—7F—
20—7F—
30—7— 14(10,11,8) (5,6) (7,13) (2,4) (3,12)1-9
43— — (*14,10,11,8)12(5,6,7,13) (2,4,3) (1,9
o ILRE
B 2 800/ JA R 2-7 900 AR 2-5 880M 3EE 2-7-12 152,740
B B 2 240 2-12 22,950/ F5 EE 2-7 2,100H 3EE 2-7-12 519,650/
7 200/ 7-12 19,3804 =51 2-7 4,400M
12 4,190M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




